8 Instruction Book
2=NO | HEAH
< ’ ;
[A] f (M8x55)-6pcs & & (M6x10)-16pcs
| ® f (Mex60)-dpcs @ O (MBx15)-4pos
| ® % (M6)-1pcs ® ¢ (M5x15)-8pcs

® [S) (M8)-10pcs @ N (M6x15)-8pcs

(E] © (018x@8)-16pcs @) P (M8x15)-8pcs
J

MODEL:T750D

/ For two column assembing
Sitk-1a RFmRAE

For three column assembing

Warning:
@is breakaway when install
ceiling and center column.

Upper column \
HiEE

Mark and drill 4 pilot holes on ceiling
STEP-2a attach the mounting bracket to the ceiling
. ERTWRCH AN RRANHREREEESR

EE:
TRHPERERENHERREE, @,

Mark and drill 4 pilot holes on ceiling
attach the mounting bracket to the ceiling

ERTREH S HINREAMHBEREEERR

Vizzzzzzzzzzzzz2

T

1| “™
< | &5 | _° |
11l N

ST




/ 'S'TEP_‘3 Asse%%%célumn STEP-4 Attach thjgr%g;tgggu;;i to the 'Ih

Put TV assembly onto mount N
EENANRERRE R




